
13th October                               Foundation 5-a-day                 

Safia sends 14 text messages daily 
that cost 5p each.
She makes 3 calls each day costing 
25p each.

How much does she spend altogether 
over five days?

What is the smallest number that is 
divisible by both 3 and 11?

What is the smallest number divisible 
by both 6 and 9?

Matt’s age and Noah’s age add up to 
64. 

Matt is 36 years older than Noah.

How old is Noah?

W = 3a + 2c

Find W if a = 7 and c = 8

Find W if a = 3.5 and c = 2.2

What is the bearing of A from B?
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